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SRC STATE

1 (Initial)

2 (Flight Enquiry)
3 (Seat Enquiry)
4 (Reservation)
5 (Confirmation)
6 (Final)
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—)Read user’s answer for current paned
5Read user’s choice for next step
e if wrong answer or wrong choice then

Output error messages
end
end
Process user’s answer
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—-— Return s¥ate by taking transition ’‘choice’
require valid_source_state:@ < src <(6
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ew_( current_state : INTEGER): INTEGER
—— Handle interaction at the current state.
—-— Return user’s exit choice

local . __C(]__SCi ﬂ*""e"f:— Safp Lp

answer: ANSWER; valid _answer: BOOLEAN; choice: INTEGER

> AR L

until

valid _answer
do

answer =

choice

)
( current_state )
( current_state )

valid _answer
if not valid an
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end s
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display(current_state: INTEGER)
require
valid_state: 1 < current_state < 6
do
if current_state = 1 then

elseif current _state = 2 then

—— Display Initial Panel

—— Display Flight Enquiry Panel

else Level 3 execute_
, , session
—— Display
end
end
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initial transition
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is_final

Level 1 %

display read correct

message
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